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TREE > BLLRFRE»FRF o T RBIPFRINERIEFAY
- HEAM #4204 » % 4048 47 Gldc o

L #ipes =+ 7 o P pe(nucleotide) gt g &

(A) non-covalent bond (B) peptide bond
(C) disulfide linkage (D) phosphodiester linkage
2. % B DNA = 5 HipF » 2 ODygonm vk Sk 5 -
(A) 3 * (B) i# (C) 7 % (D) f i irl 21
3. htiA ¢ » T 57r— 45 DNA polymerase £ 7 E it 4F @ e it (@ 228 48 # i) ?
(A) DNA pol 11 (B) DNA pol 111 (C) DNA pol | (D) DNA ligase
4 H A RUV)BR RS > ¥ HL §F BEONA)E < R T ?
(A) depurination  (B) pyrimidine dimer (C) deamination (D) strand break
5. & & 48 DNA 2 4 #41° > uracil glycosylase 2 48 # #41]jf>+ :
(A) mismatch repair (B) direct repair
(C) nucleotide excision repair (D) base excision repair
6. The sturcture shown in the right is:
(A) a pyrimidine nucleoside O
(B) guanine | lm/('“(d"‘\\
(C) deoxyguanosine (| '| /CH
(D) a purine nucleotide HN N “g
(E) thymidine
7. The molecule shown in the right is: o
(A) RNA (H; O\ Baees
(B) DNA N HZ
(C) fatty acid ”__;j_ﬂ“‘”
(D) protein 0
8. Which of the following is not the basic rule for DNA replication? f"_“.. 0 Baw,
(A) from N-terminal to C-terminal W\
(B) one origin and bidirection ¥ o
O—P=0

(C) 5’ to 3’ and semidiscontinuous
(D) semiconservation
9. T 7|78~ # 7 H_DNA recombination & sF ?
(A) general recombination (B) direct repair
(C) transposon (D) site-specific recombination
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10. 78— 45 DNA 3458 2 e ?

(A) A form (B) Z form (C) B form (D) «a -helix
11. & 7|78— fap% % A %2 DNA & = ?

(A) DNA ligase (B) photolyase

(C) single-stranded binding protein (D) DNA polymerase |

12. = 7|78 - #& RNA polymerase 7+ #+% i=(nucleolus)® > # # rRNA @i ?
(A) RNA pol 111 (B) RNA pol Il (C) mitochondrial RNA polymerase (D) RNA pol |
13. T A e fEdnd & F1 & 7 47 02 changed tRNA shig 4 > @ 5 Frdl dev [T & = et i ?
(A) tetracycline (B) cycloheximide
(C) sterptomycin (D) puromycin
14. % DNA-protein interaction ¥ > & ¥ 3 ¥ A=T fedtavehpt
(A) Gln (B) Arg (C) Asp (D) Met
15. e A 47 8 - Fod Feovefipie $ @ > FAP 38 FoRES i KT PR3
A EERE?
(A)Glu (B)Asp (C)Gly (D)GIn
16. 47| (conformation)id ¥ & 4p F-v
Al B)2zxrg# (C)3x%i (D)4x%i
17. £ fE % X it 45 F i L-Alanine D-Alanine , Hpe %57
fawp? (A) Bi B) B2 (C) Bg (D) B
18. 1T i® 'fqz @?% B 4 B i Koy 0 H 27
(A) mM/sec (B) 1l/sec (C) 1/mMmin (D) mMmin
19. F1= ¢ %3#(Circular Dichroism)# &2 _F-v B 5
A)lsst B)2ai# (C)3x%i (D)4x%i
20. #-F-0 TR BIEY > - A S 0 BSOS N GRBREINE VAR FURRIRAR L ?
(A) Tyr (B) Cys (C) Lys (D) Gly
VAN SRS A HFET FR?
(A) Asp (B) Thr (C) Trp (D) Ser
22. Edman degradation ¥ j&- % _3-v ' <h
(A) lagi (B) 25%# (C) 3=xaxi (D) 4=axi
23. T A=l pL e ?‘{ 58 F-v B Eaigt(disulfide bond) 2 = ?
(A) Cys (B) Met (C) Pro (D) Glu
24. 348 Jp i+ (gel filtration) 4245 0 F R AT 4 > |4 Hpenp oh
(A) #R7F (B) #+ & (C) skt (D) rat 2%
25. 3§ #4 3| #4103 (competitive inhibitor) T spF > TPt 4 K ¥ B e ?
(A) kCat /Km (B) Km (C) Vmax (D) 1l __P lif_,b j'i-
26 ¥PEFG AT 0 SERT A EAN TR BRAR 9
(A) Cys (B) Asn (C) Tyr (D) Lys
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27

28.

29.

30.

31.

i § 4 PR A BAES?

(A & (B)& (C) 4 (D) &
In comparing fatty acid biosynthesis with B-oxidation of fatty acids, which of the following
statements is incorrect?
(A) A thioester derivative of crotonic acid (trans-2-butenoic acid) is an intermediate in the synthetic

path, but not in the degradative path.

(B) A thioester derivative of D-B-hydroxybutyrate is an intermediate in the synthetic path, but
not in the degradative path.

(C) Fatty acid biosynthesis uses NADPH exclusively, whereas B-oxidation uses NAD™*

exclusively.
(D) Fatty acid degradation is catalyzed by cytosolic enzymes, fatty acid synthesis by

mitochondrial enzymes.
(E) The condensation of two moles of acetyl-CoA in the presence of a crude extract is more

rapid in bicarbonate buffer than in phosphate buffer at the same pH; the cleavage of acetoacetyl-CoA

proceeds equally well in either buffer.
Chylomicrons carry ___ inthe
(A) triacylglycerols; cell
(B) triacylglycerols; blood
(C) cholesterols; blood
(D) fatty acids; blood
(E) fatty acids; cell
Which of these statements about the regulation of cholesterol synthesis is not true?
(A) Cholesterol acquired in the diet has essentially no effect on the synthesis of cholesterol in

the liver.

(B) Failure to regulate cholesterol synthesis predisposes humans to atherosclerosis.
(C) High intracellular cholesterol stimulates formation of cholesterol esters.

(D) Insulin stimulates HMG-CoA reductase.

(E) Some metabolite or derivative of cholesterol inhibits HMG-CoA reductase.

Which of the following is (are) true of the B—oxidation of long-chain fatty acids?
1. The enzyme complex that catalyzes the reaction contains biotin.
2. FADH, serves as an electron carrier.
3. NADH serves as an electron carrier.
4. Oxidation of an 18-carbon fatty acid produces six molecules of propionyl-CoA.

5. Oxidation of a 15-carbon fatty acid produces at least one propionyl-CoA.
(A) 1,2,and 3
(B) 1,2,and 5
(C) 2,3,and 4
(D) 2,3,and 5

%3 H



N

Foro% R L oo o2 ¥ OB &

il R R A £5F

32.

33.

34.

35.

36.

37.

(E) 3and5 only

Which one of the following statements is true?

(A) The brain prefers glucose as an energy source, but can use ketone bodies.

(B) Muscle cannot use fatty acids as an energy source.

(C) In a well-fed human, about equal amounts of energy are stored as glycogen and as triacylglycerol.

(D) Fatty acids cannot be used as an energy source in humans because humans lack the enzymes of
the glyoxylate cycle.

(E) Amino acids are a preferable energy source over fatty acids.

Free fatty acids in the bloodstream are:

(A) bound to hemoglobin.

(B) carried by the protein serum albumin.

(C) freely soluble in the aqueous phase of the blood.

(D) nonexistent; the blood does not contain free fatty acids.

(E) present at levels that are independent of epinephrine.

The Cori cycle is:

(A) the conversion of lactate to pyruvate in skeletal muscle to drive glycogen synthesis.

(B) the interconversion between glycogen and glucose I-phosphate.

(C) the production of lactate from glucose in peripheral tissues with the resynthesis of glucose from
lactate in liver.

(D) the synthesis of alanine from pyruvate in skeletal muscle and the synthesis of pyruvate from
alanine in liver.

(E) the synthesis of urea in liver and degradation of urea to carbon dioxide and ammonia by bacteria
in the gut.

The disaccharide sucrose is composed of:

(A) glucose and fructose

(B) glucose and galactose

(C) galactose and maltose

(D) all of the above

(E) none of the above

The steps in glycolysis that are different than those in gluconeogenesis are catalyzed by these

enzymes.

(A) pyruvate kinase, phosphofructokinase, glucokinase

(B) pyruvate kinase, glucokinase, hexokinase

(C) pyruvate kinase, phosphofructokinase, triose phosphate isomerase

(D) pyruvate kinase, phosphofructokinase, hexokinase

(E) none of the above

Complete the reaction:

pyruvate  + CoASH + NAD" —

(A) acetyl-CoA + NADH + CO;

(B) phosphoenolpyruvate + NADH + H" + CO;
(C) acetyl-CoA + NADH + H* + CO;

(D) acetyl-CoA + NADH + SH + CO;

4 H
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(E) none of the above
38. Which of the following are true statements about the structure of ATP synthase?
(A) It has a component called F, embedded in the inner membrane.
(B) It has a component found in the matrix referred to as F;.
(C) It has a trimer of cytochrome subunits extending into the intermembrane space.
(D) aandb
(E) a,bandc
39. Which of the following statements about lipoic acid is false?
(A) Itisan antioxidant.
(B) Itis soluble in aqueous and fatty tissue.
(C) It can chelate metal ions.
(D) It can neutralize radicals.
(E) Itisa product of the citric acid cycle.
40. Which of the following statements is false?
(A) In skeletal muscle glucose is broken down into lactate via glycolysis.
(B) In liver lactate is converted to glucose via gluconeogenesis.
(C) In skeletal muscle glucose is broken down into lactate via gluconeogenesis.
(D) aand b are both false
(E) aand c are both false
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